EARAROBEEIERT — 2 N— IBISH —F

2018%8H 130 (B) 9mEA#H2H

m#— K-y 228 B3MmM H5%—# B IR
[A&4£] 1 7% :3,000,000 @ 23 :1,200,000 33 :750,000 4 3% :450,000 @ . 5 7 :300,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. » 4 | AHEES 1:13.3 1-10  [36.7| — 5 479 | BEEIE(S (K3H)
1§l 4| NFNV—F # 54.0 e Ch | ) FFL—vry
Z:va7x BN LAY — J—=HTp—L
Sov g - [inpe ] :13. - . — AREEZ (KFH)
2 5 SLRYT T4 X 4 6 N0 1(7131:;3 5-4 37.7 2 (5+011) A
R:F15>8) B:AL—bT7IJUZR 2R Hhis
T 4 3 | BEX 1:13.4 2-2 38.5| — 1 460 | FEILUBAE (/)\4K)
3|81y T3t %.0 (1/2) o | THEE
LY IRGT1 TSR BiI—-2rTaM4T) FERS
. =3 o _ —
4l5lg| V=7 rER 4 w%ﬂﬁ 1.(123).8 33 |38.4 3 | 52 %E%g (K3)
RHYIXTTZR B YIA—N=T (+6) =7 5—L
— e HTHE R 4. — . - FEE— (KFH)
N . BPXELPE o4 DaE 1 (114)0 7-6 38.0 10 32) it
LY Ny THL BiASLYE R HT 0 A s
Son= 4 5 | )3 1:14.2 1313 | 37.2| — 1| 449 | AEE= (K3H)
6 @i *FT A% 6.0 M s | EAAES
R:TLFFE1T1 BHYZ—FIHLF— (B) #AEA-FKL—Ya>@AE77
FEEA : - - EF#HZ (KH)
6|14 570 2121 | ey | | e
LY LZ4N—F B:IT775—T7Z3ay b JliEsEie]
5o = 5 44 | HEARE 1:14.5 8-8 38.4| — 6 400 | HAREZ (KH)
s o|7 IRV 6.0 M (Cy) | Pt
L:7V*—v BTF-ZXrAh— FHAE
. o EFEEA 4. - . — FEmME (KH)
9 &l 3 =t ZINF— 4 6 5’&6.0 1(11/42>6 14-14 | 37.3 13 (5_127) henz
AR wIT 4= BN-F40O-X HET7—L4
s 47 | FEEH 1:14.6 9-9 38.3| — 9 481 | REFE (KH)
10/5| 7 | ¥ TH A= 5.0 (nF) () | MEEERE
L:TANRTy>Ya BT H—Ta BEHS
W P L — 4 6 | AlkEE 1:14.6 12-12 | 37.8| — 8 460 | REEE (1B
IR RE AL 5.0 (75%) g |BHE=
LT RIA VL= BACT—KIVIL BE R
= > S # 7 | BEE 1:14.9 6-7 39.1| — 12 495 | #H LAz (K#H)
ol 7712y F— 54.0 ( 3/4) (a) | ) EEEK-2557
RTd— W RFU2— BiLT1I5597 IR A4S
S s 4 | BEY 1:15.3 1-1 40.4| — 7 535 | MRz (/1)
Eﬂ g HYE~2R 54.0 @ 45) | ) FriEd T4
L:ZARM)— bt B:dvL—KRE— FyEF T — L
2P s 7 | NISEXEB 1:15.8 10-11 [39.2| — 14 | 428 | Wi (GFn)
14711 7y vy=U=7 54.0 (2 1/2) (+1) | TR
LHIRT 5 B:d-IRKaxt> HiE XEZ
® 1—F—@EBIERL
13—7-—
20—F—
§a=7r= 6,13,8,14,5,12,2,9,7,11,4,1,10,3
43—+ — 6,13,8,5,14,2,12,9,7,4,11,1,10,3
[ N5
B 4 1,030M 714K 4-5 470M e E 3-4 1,7508 JEE 4-5-13 1,740
B B 4 180M 4-13 530M e B 3-4 3,750H 3EE 4-5-13 17,960M
5 150 5-13 240M B & 4-5 2,060
13 120 B HE 4-5 4,720M

ABICOVWTRDTEEERROODE. TR LIV,




